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SuperH RISC engine C/C++ Ver.8.0

MOV. B
EXTU. B

MOV. B

MOV. B
L1:

WP/ E:Q

BT

(1) optimize=1

unsigned char/unsigned short

@m Rn
Rn, Rn ; 3byte
Rn, @R15
@r15,R12 ;R12
=>EXTU. B R12, R12
R12, R2 ; R12
L1

(2) unsigned char/unsigned short

(3) (2)
4) (2)
(5) (3
) (5)

(1) optimize=0

2
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2
m*( *i+b*1) i 2

int a[ 100]
fO{

int i;

for (i=0;i<100;i ++)({

a[i] =3 * (i *i + 555 * i); [* 3% *j+555*%] */
}

(1) optimize=1

2

3 (2 int/unsigned int/long/unsigned long

@ (@) 3 2

B @ "m*G@*i+b*1)"G m,b )

(1) optimize=0

2 volatile
3) int/unsigned int/long/unsigned long

(4) 2 m 1 /12
: 3%¥({*i{+555*%1) ® 3*i*i+3*555%1]



/ /
/ /
/ /
int Xx,a;
t est _000()
{
char b;
b = (char)(a + 3);
X =b + 2;
}
MOV. L L11, R6 ;_a
MOV. L L11+4, R2 ; _X
MOV. L @R6, R6
ADD #5, R6 ; char
DX
RTS
MOV. L R6, @R2

(1) optimize=1
2

(3) (a),(b)

(a) (2)

(b) (2)

(1) optimize=0
@) (2) volatile
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(SHC-0001)
char c;
int i;
func(){
} ¢ = ((char)i / (char)2); /* i nt */
func2(){
¢ = ((char)i / (char)0x102); /* 0x00000102 */

}
(1) optimize=1
©)
3) (2
(4) 2 cpu=shl division=cpu=inline
5) 3)
(1) optimize=0
©)

func1Q: ¢ = ((char)i/ (char)2); ® c = ((char)i/2);

func20: ¢ = ((char)i / (char)0x102); ® c = ((char)i/ 0x02);
3) int

: func1(): tmp = ((char)i/ (char)2); (tmp: int )

¢ = (char)tmp;





